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General Knowledge of Chhattisgarh

Section Id : 14658731
Section Number : 1
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Number of Questions to be attempted : 25
Section Marks : 25
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Sub-Section Number : 1
Sub-Section Id : 14658731
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 146587751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Select the INCORRECT match from the following options related to some of the important revolts of Chhattisgarh.
Options :

1465873001. * Paralkot rebellion - 1825

1465873002. ¥ Koi Revolt - 1862

1465873003. * Bhumkal movement - 1910

1465873004. * Bhopalpatnam struggle - 1795

Question Number : 1 Question Id : 146587751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG & o Hea@yul [agis! ¥ Hefdd Fafafad fawedl & § e fem &1 o= Fifor|

Options :

1465873001, % WRA®DIC fAglg - 1825
1465873002, ¢ HIs AT - 1862

1465873003. ¥ YA TGId - 1910




1465873004, ¥ HIUTAUSH IO - 1795

Question Number : 2 Question Id : 146587752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which were the two branches of Kalchuri dynasty in Chhattisgarh?
Options :

1465873005. ¥ Ratanpur and Raipur

1465873006. * Raipur and Sirpur

1465873007. * Ratanpur and Amarkanta

1465873008. * Raipur and Amarkanta

Question Number : 2 Question Id : 146587752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BTG H B I DI &l ARATE I 4 o
Options :

1465873005, ¥ IATYR 3R AR

1465873006. % IR 3R RRR

1465873007, % IATYR 3R SR
1465873008, % IR 3R 3R

Question Number : 3 Question Id : 146587753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who was the founder of the Rajarsitulya dynasty?
Options :

1465873009. # Vibheeshan

1465873010. #* Bhimsen-I

1465873011. % Shur

1465873012. # Dayit-I



Question Number : 3 Question Id : 146587753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
RIS g I & ARATTH B A?
Options :

1465873009. # faafiwor
1465873010, ¥ HHA9-guH
1465873011. ¥ TR

1465873012, # GfId-UyH

Question Number : 4 Question Id : 146587754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which among the following states lies to the west of Chhattisgarh and shares boundary with it?
Options :

1465873013. * Jharkhand

1465873014. * Uttar Pradesh

1465873015. ¥ Madhya Pradesh

1465873016. * Andhra Pradesh

Question Number : 4 Question Id : 146587754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

f=feRad & @ o 1 I STe & ufym § fYd § 3R 3% a1y e Ireh SRd1 82
Options :

1465873013, # IRTS

1465873014, % JITR UK

1465873015. ¥ AL UG

1465873016. # 3T TR



Question Number : 5 Question Id : 146587755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which among the following is NOT a river basin of Chhattisgarh?
Options :

1465873017. * Brahmani basin

1465873018. * Narmada basin

1465873019. * Mahanadi basin

1465873020. ¥ Tapti basin

Question Number : 5 Question Id : 146587755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frfefad & @ o & gxigie @) 7 2100 (river basin) &Y 82
Options :

1465873017. % STEION Iof

1465873018, % -THaT vt

1465873019. ® HgHa! QUi

1465873020. ¢ AT Iof

Question Number : 6 Question Id : 146587756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following states lies to the east of Chhattisgarh and shares boundary with it?
Options :

1465873021. ¥ Madhya Pradesh

1465873022. ¥ Telangana

1465873023. # Maharashtra

1465873024. ¥ Odisha

Question Number : 6 Question Id : 146587756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

f=fRed & @ ®F 91 I SiTe & gd § fUd § 3R 39 1y T Irg adl 82
Options :

1465873021, # ALY

1465873022, % ST

1465873023, % IRTS

1465873024, ¢ 3NTS2M

Question Number : 7 Question Id : 146587757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following authors of Chhattisgarh wrote the famous play 'Charandas Chor’?
Options :

1465873025. * Bela Bhatia

1465873026. ¥ Habib Tanvir

1465873027. * Surendra Dubey

1465873028. ¥ Khub Chand Baghel

Question Number : 7 Question Id : 146587757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TG & HERad | ¥ fh g 7 1 URiG Alcd RGN IR ferar um
Options :

1465873025, ® & Hifed

1465873026. ¢ Tad AR

1465873027. ¥ 5 gd

1465873028. ¥ Wd g IUd

Question Number : 8 Question Id : 146587758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which of the following folk songs of Chhattisgarh are sung during Diwali celebrations?
Options :

1465873029. ¥ Dohe

1465873030. * Cher Chera

1465873031. * Sawnahi

1465873032. * Faag

Question Number : 8 Question Id : 146587758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

I & Fafafad de Mdl # ¥ o 91 1id feareh digR & SR 111 STl 82
Options :

1465873029. ¥ Gl

1465873030, % -SRI

1465873031, % TG/

1465873032. * o[

Question Number : 9 Question Id : 146587759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following folk dances of Chhattisgarh marks the end of rainy season and advent of spring?
Options :

1465873033. * Raut nacha

1465873034. * Sua Nacha

1465873035. ¥ Karma

1465873036. * Pandavani

Question Number : 9 Question Id : 146587759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
SHIEe & FEfiad dic Tt § Q 1 1 7 auf g B THIT 3R 9Hd g & SMTTH $T Jobd T 82

Options :



1465873033. ® M&Hd A
1465873034. % J3HT 1A

1465873035, ¢ HIH]
1465873036, ® USA!

Question Number : 10 Question Id : 146587760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When is the Madai festival celebrated in Chhattisgarh?
Options :

1465873037. # September to November
1465873038. ¥ December to March

1465873039. # January to February

1465873040. #* April to June

Question Number : 10 Question Id : 146587760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TG | HSs I0d (Madai festival) & HAIT ST 82
Options :

1465873037. % RydeR ¥ TdeR d

1465873038, ¢ fodeR ¥ A d&

1465873039, ¥ SHA<! I HRaR] db

1465873040. % 3 I S ddb

Question Number : 11 Question Id : 146587761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The name of tribe 'Gond' of Chhattisgarh is derived from Telugu language 'Konda' whose literal meaning is:
Options :

1465873041, ¥ Hill



1465873042. * Forest
1465873043. % River
1465873044. * Youth

Question Number : 11 Question Id : 146587761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BURATG B! SIS TS (Gond) ' BT ATH A HTHT & Xeq ‘HIST (Konda) ' ¥ fdwTel a1 7, forent emfeqas a1 gl
Options :

1465873041. ¥ UgIS

1465873042, % ST

1465873043, % dI

1465873044. ® dIaxyT

Question Number : 12 Question Id : 146587762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In which part of Chhattisgarh, European dialects are used?
Options :

1465873045. * Western

1465873046. * Southern

1465873047. % Northern

1465873048. ¥ Central

Question Number : 12 Question Id : 146587762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

e & Fafiad 7 J foea wi & gt siferdl o1 SuanT faan STl 82

Options :
1465873045, % THY
1465873046. % &



1465873047, % I
1465873048, ¢ He

Question Number : 13 Question Id : 146587763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following festivals of Chhattisgarh is celebrated at the temple established by Maharaja Ramchandra of Nag kingdom?
Options :

1465873049. ¥ Bhoramdeo festival

1465873050. * Bastar Dussera

1465873051. * Bastar Lokotsav

1465873052. ¥ Madai Festival

Question Number : 13 Question Id : 146587763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

FTRTTE & FUfifad AeRT & A B9 I AI8R TN I & HERTST IHTS gRT VI HeR § Hmar Sirdr 82
Options :

1465873049, ¥ YRHAST AIBR

1465873050. ¥ S¥R GRIERT

1465873051, % TR dAldIedd

1465873052, % HS% 304

Question Number : 14 Question Id : 146587764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

As on year 2020, Chhattisgarh has been ranked as the tea producing state of India.
Options :

1465873053. * st

1465873054. % 9th

1465873055. ¥ 17th



1465873056. * 21st

Question Number : 14 Question Id : 146587764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

dy 2020 T P! TABRI AR, TG DI YR & I IATGH T & &0 § R e g
Options :

1465873053, # Ugd

1465873054. % 9d

1465873055. ¢ 17d

1465873056. % 219

Question Number : 15 Question Id : 146587765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

As per Indian Mineral Yearbook, 2019 published by Indian Bureau of Mines, Chhattisgarh produces approximately of Total steel
produced in India.

Options :

1465873057. ¥ 13%
1465873058. * 17%
1465873059. ® 25%
1465873060. * 30%

Question Number : 15 Question Id : 146587765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

YR T &R, BURNTG GRT USRI Sfea- iR SaRgH, 2019 & IR, BTG H HRA & SdIGd $d Wi BT THTHT

RRICEE R
Options :
1465873057. ¥ 13%
1465873058. * 17%
1465873059. * 25%



1465873060. * 30%

Question Number : 16 Question Id : 146587766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Where is the man-made jungle safari (Inaugurated by Hon’ble PM of INDIA in the year 2016) located in Chhattisgarh?
Options :

1465873061. ¥ Raipur

1465873062. #* Durg

1465873063. * Bastar

1465873064. ¥ Rajnandangoan

Question Number : 16 Question Id : 146587766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

A4 fAfHfa Shra et (et av 2016 & YRA & A 94T H3 gRT 39T a1 T oT) S<ReTe | Sal fRUd ]2
Options :

1465873061. ¥ TIYR

1465873062, ® gl

1465873063. # &}

1465873064, ¥ IJSHIGIId

Question Number : 17 Question Id : 146587767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Where is the head quarter of Finger print Bureau of police in Chhattisgarh?
Options :

1465873065. * Bilaspur

1465873066. * Raigarh

1465873067. ¥ Raipur

1465873068. * korba



Question Number : 17 Question Id : 146587767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SuTTe H fhTR fife sqR1 3iTth Yfery o1 g el o2
Options :

1465873065. % faeiqR

1465873066. * MUTg

1465873067. ¥ TIYR

1465873068, % DRI

Question Number : 18 Question Id : 146587768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many janapad panchayats are there in Chattisgarh as on year 2020?
Options :

1465873069. * 27

1465873070. ¥ 146

1465873071. * 1146

1465873072. * 11664

Question Number : 18 Question Id : 146587768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Iy 2020 TP P THABR] AR, TG | foba-t UG Uad &2
Options :

1465873069. * 27

1465873070. ¥ 146

1465873071. * 1146

1465873072. * 11664



Question Number : 19 Question Id : 146587769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Jagdalpur is the district headquarter of
Options :

1465873073. ¥ Baster

1465873074. * Dhamtari
1465873075. * Bijapur

1465873076. * Gariaband

Question Number : 19 Question Id : 146587769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SHTeaqR fufoRed # 4 fg fora &1 qemed g2
Options :

1465873073, ¥ d¥}

1465873074, % YHRI

1465873075. % WISTgR
1465873076, % TRATEC

Question Number : 20 Question Id : 146587770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who among the following is Hon'ble Minister, Dept. of Panchayat and Rural Development, Chhattisgarh as on October 2021?
Options :

1465873077. * Shri Bhupesh Baghel

1465873078. ¥ Shri T.S. Singh Deo

1465873079. * Shri Vinod Sevan Lal Chandrakar

1465873080. * Shri Guru Dayal Singh Banjare

Question Number : 20 Question Id : 146587770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

3(AEER 2021 TP BT BRI STHR, FAARIT H A DI A U=rad SR Frior faepr faHmT w4 6
Options :

1465873077. ¥ 4t YU SO

1465873078, ¢ i g Rig g

1465873079. * ot [a-ig Yo AT dgTH

1465873080. * #1 % &aTd Rig s

Question Number : 21 Question Id : 146587771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Chhattisgarh has allocated of its total budget towards agriculture and its allied activities in 2020-21.
Options :

1465873081. * 9.7%

1465873082. * 12.3%

1465873083. ¥ 16.6%

1465873084. * 19.8%

Question Number : 21 Question Id : 146587771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BURTTG A 2020-21 H 304 Hdl Folc ol FY 3R 3T Tag Tafaferdt & fog sdfed fear gl
Options :

1465873081. * 9.7%

1465873082. * 12.3%

1465873083. ¥ 16.6%

1465873084. * 19.8%

Question Number : 22 Question Id : 146587772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following is a INCORRECT match regarding Chhattisgarh state?



Options :

1465873085. ¥ Time of State Formation - 8th Five Year Plan (1997-2002)
1465873086. # Rajya Sabha seat in the state - 5

1465873087. # Lok Sabha seats in the state - 11

1465873088. # Assembly seats in the state - 90

Question Number : 22 Question Id : 146587772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BUIE T & Fey § Fafafed § 3 o1F 91 Terd fiaH g2
Options :

1465873085. ¥ T T3 &1 GHY - 8 UIasig TS (1997-2002)
1465873086. % 15T H IoTTH HIC - 5

1465873087, % o0 H AHIHTHIC - 11

1465873088. # o0 H fAYRIHT TIC - 90

Question Number : 23 Question Id : 146587773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

As per the Madhya Pradesh Reorganisation Act, 2000, how many districts of Madhya Pradesh are comprised in Chhattisgarh state?
Options :

1465873089. # 12

1465873090. # 14

1465873091. ¥ 16

1465873092. # 20

Question Number : 23 Question Id : 146587773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

e Yo T SiffTaH, 2000 & STUR SUTe I H Aeg U & foha foret 2mfia g2

Options :




1465873089. * 12
1465873090. * 14
1465873091. ¥ 16
1465873092. * 20

Question Number : 24 Question Id : 146587774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Sikaser Hydroelectric project is constructed on which of the following rivers in Chhattisgarh?
Options :

1465873093. # Shivnath river

1465873094. # Hasdeo river

1465873095. # Jonk river

1465873096. ¥ Pairi River

Question Number : 24 Question Id : 146587774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
RIBIR Safdggd gRasHI &1 Faf axdire & Fofafed 3 9 f6y 7d = fear mr g2

Options :

1465873093, % fRra=my =7}
1465873094, % §ged -d!
1465873095, # Sids Tl
1465873096, ¢ Tt 77}

Question Number : 25 Question Id : 146587775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Across which river, the Gangrel Hydroelectric project is built in Chhattisgarh?
Options :

1465873097. ¥ Mahanadi



1465873098. * Hasdeo
1465873099. # Indravati
1465873100. #* Pairi

Question Number : 25 Question Id : 146587775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SUIG § RS Selfaeyd Ui fbd 7 1R &1 718 29
Options :

1465873097. ¥ HEIal

1465873098, % §gcd

1465873099. % Sardal

1465873100. % T

Computer Knowledge

Section Id : 14658732
Section Number : 2

Section type : Online
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Question Number : 26 Question Id : 146587776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following HTML tags do NOT require closing tag?



Options :
1465873101. * <HTML=

1465873102, % <title>
1465873103, % <b>

1465873104, ¢ <br=

Question Number : 26 Question Id : 146587776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

HTML & Fafifed & § fosd ¢71 b fore Fefoit ¢ &t sragehdr =81 gidl 82
Options :
1465873101, % <HIML>

1465873102, % <title>
1465873103, % <b>

1465873104, ¢ <br=

Question Number : 27 Question Id : 146587777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The languages in which programmer specify what to do without specifying how to do is known as
Options :

1465873105. * Procedural languages

1465873106. ¥ Non-Procedural languages



1465873107. #¥ Machine level language
1465873108. ¥ Assembly language

Question Number : 27 Question Id : 146587777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

qu-lTﬁlTx’rﬁ(languages)ﬁ WW%,WW%W%@%WW%H&%WW%I
Options :

1465873105, ¥ TIORT qiaol

1465873106, ¢ A-URIORA daw

1465873107. * AXH-ddd Aao

1465873108. # 3Tl civaSt

Question Number : 28 Question Id : 146587778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following MS-DOS commands is used to clear the screen?
Options :

1465873109. ¥ TRANSPARENT

1465873110. ¥ CLEAN

1465873111. ¥ CLS

1465873112. # ERASE

Question Number : 28 Question Id : 146587778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

1 B! [k B & fore Fafefed 8 9 fg MS-DOs SH1E &1 U fasa STl 82
Options :

1465873109. ¥ TRANSPARENT

1465873110. ¥ CLEAN

1465873111. ¥ CLS



1465873112. * ERASE

Question Number : 29 Question Id : 146587779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In ‘C’ language, the names given to program elements such as variables, arrays, and functions are called
Options :

1465873113. ¢ Identifiers

1465873114. ¥ Keywords

1465873115. # Data types

1465873116. * Constants

Question Number : 29 Question Id : 146587779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

C oS H, INTae, W 3R HhaRM oY T et ey &I fAafaRad & 3 31 &gl Sidl 82
Options :

1465873113, ¢ identifiers (3MT3S [CHTY)

1465873114. ¥ keywords (®1d8¥)

1465873115. # data types (Scl CI3W)

1465873116. ¥ Constants (1% CH)

Question Number : 30 Question Id : 146587780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

C language supports different types of operators, which can be used with variables and constants to form expressions. Which of the followings
operators has highest precedence?

Options :
1465873117, % ==

1465873118, v Size of O



1465873119. ® =

1465873120. * *

Question Number : 30 Question Id : 146587780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

C 19T fAfie TR & 3iTaRext o1 gaeda SRl 8, ST STt aRTuae (variables) 3MR BIRE<H (constants) b 1Y TSI S & 1T
forar S goar 8 | Fgfeiad & T frg sifavex o) Tale mUfiedr (highest precedence) 82

Options :
1465873117. ®# ==

1465873118, ¢ >ize of ()

1465873119. ® =

1465873120. * *

Question Number : 31 Question Id : 146587781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which among the following MS-DOS commands is used to display the name of the current directory or to change the current directory to the
specified directory?

Options :

1465873121. ¥ CHDIR
1465873122. #* DIR
1465873123. ¥ MD
1465873124. ¥ CHCP

Question Number : 31 Question Id : 146587781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

MS-DOS Bt Fafafad # forg HATS T ITUNT IfH STaRdes! & A1 B G & fofe I I SRaes] &1 fadl 3 fahdt fafry
STRaES) ol deaq o forg farar ST |2

Options :

1465873121, ¥ CHDIR

1465873122. # DIR

1465873123. # MD

1465873124. ® CHCP

Question Number : 32 Question Id : 146587782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In a 32-bit architecture, the size of the ‘double’ data types in C programming language is
Options :

1465873125. # 4 Byte

1465873126. ¥ 8 Byte

1465873127. # 12 Byte

1465873128. # 16 byte

Question Number : 32 Question Id : 146587782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TR dias ¢ H, 32-f9e sfdhcaer & <Sae ST T8y &1 STHR &1 gidl 62
Options :

1465873125. # 4dIgC

1465873126. ¥ 8 dIgC

1465873127. % 12 dIgC

1465873128. # 16 dIgC

Question Number : 33 Question Id : 146587783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Consider the following HTML code:

<font face="Arial”> text</font>

Which of the following is CORRECT about 'Arial' used in the above statement?
Options :

1465873129. # It is a Tag name

1465873130. #* It is an Attribute name

1465873131. ¥ It is the value of an attribute
1465873132. ¥ 1t is the size of a letter

Question Number : 33 Question Id : 146587783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

== HTML iT 97 = fIifeT:
<font face="Aral"> text</font>

IRFT FUA H 39gFd U6 Arial' F Tesl H T 7 @ i @1 Reew @@ 27
Options :

1465873129. # Tg UH N ATH g |

1465873130, ® g U Ufese T ]|

1465873131, ¥ UE U&h Ufesde HI AF g

1465873132, # Tg U &R BT PR 5|

Question Number : 34 Question Id : 146587784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

C language supports different types of operators, which can be used with variables and constants to form expressions. Which of the followings
operators has right-to-left associativity?

Options :
1465873133, % &&



1465873134, ¢ T

1465873135, * |

1465873136. *

Question Number : 34 Question Id : 146587784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

C oot fafe TR & 3ITaeR) &1 greda ot g, [T ST ANTT (variables) 3R BT (constants) & TTY Tl §-4 & g
far 5 gt 7 | Fgfafea 7 9 iy 3ifaver o Gg=mid (associativity) ST ¥ aT¢ g1fl?

Options :
1465873133, % &&

3

1465873134, ¢ -

1465873135, * |
1465873136. *

Question Number : 35 Question Id : 146587785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the elements of the following lists.

LIST1 LIST 2

A: Assembly Language | 1. Programs are written in binary form

[E¥]

B: Machine Language . Closer to human languages and requires compiler for program translation

C: High-level Language | 3. Low-level language which requires assembler for program translation.

Options :

1465873137. ¥ A-3;B—1;C-2
1465873138. # A—-1;B—-3;C-2
1465873139. # A-2;B—-1;C-3
1465873140. # A-3;B-2;C-1

Question Number : 35 Question Id : 146587785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
frefafaa gfet & gafea fitT
T 1 T 2
A: 3T olsas 1. QI # aSAY 9 A orEr ST g
2. AT HT9T ¥ AT Tl ¢ o8 9OA grFee & o

B: e olva= )
= HAEe T HETHAT gal &
. 3.u$+ﬁﬁqﬁﬁdqd§m?m§mﬁ‘i’m#ﬁw
HTe T HTGHAT 2T 2
Options :

1465873137. ¥ A-3;B-1;C-2



1465873138. # A—-1;B-3;C-2
1465873139. ¥ A-2;B-1;C -3
1465873140. ¥ A-3;B-2;C—1

Question Number : 36 Question Id : 146587786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following declarations is incorrect in C programming language?
Options :

1465873141. * int emp num;

1465873142. # float _salary;

1465873143. ¥ char grade.des;

1465873144. # double balance amount

Question Number : 36 Question Id : 146587786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TR otas ¢ o Hel 8, Fafiiad o 9 o1F dt fewiver Ted g2
Options :

1465873141. * int emp num;

1465873142. # float _salary;

1465873143. ¥ char grade.des;

1465873144. # double balance amount

Question Number : 37 Question Id : 146587787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following commands is used to display the version of Windows?
Options :

1465873145. # VERIFY

1465873146. ¥ VOL

1465873147. ¥ TYPE



1465873148. ¥ VER

Question Number : 37 Question Id : 146587787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Windows & THhRUT BT GRIH & g Fafared o 9 fvg FHHis o1 ST fasan oirar 82
Options :

1465873145. ¥ VERIFY

1465873146. * VOL

1465873147. * TYPE

1465873148. ¥ VER

Question Number : 38 Question Id : 146587788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In C programming language, there are some reserve words that cannot be used as a variable, array, or function name. Such reserve words are
known as

Options :

1465873149. # Identifiers
1465873150. ¥ Keywords
1465873151. * Processes
1465873152. * Sequences

Question Number : 38 Question Id : 146587788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TR oas ¢ & 3@ Rord 989 Sl aRuad, T Siyal thaRH 1! & F0 H Ugad el U ol Javd & | T8 ReTd 989 31 HgaTd g2
Options :

1465873149, ¥ 3ATZSICHIR (identifiers)

1465873150. ¢ HIAS (keywords)

1465873151, ® U9 (process)

1465873152. % 1eh¥ (sequence)




Question Number : 39 Question Id : 146587789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The language processor used to translate the complete source program written in high-level language into an equivalent object program at once,
which is ready for execution on machine is known as

Options :

1465873153. # Interpreter
1465873154. ¥ Compiler
1465873155. ¥ Debugger
1465873156. * Language coder

Question Number : 39 Question Id : 146587789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

€|'s‘-@|aﬂ aw | fora me P TH IR A Bl $Ir8?>O|Q'I'C 3ifsoiae UIITH (equivalent object program), S RA R m & forg
IR BT 3, T uRafdld 3 & forg dvast UIRR &1 IuaiT fasan o 3, S fob FEAI G|

Options :

1465873153, # SRUR (Interpreter)

1465873154, ¢ HUIZAR (compiler)

1465873155. % fSaTR (debugger)

1465873156. # TIAS Bl (language coder)

Question Number : 40 Question Id : 146587790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Consider the following variable declarations in C programming language:
inta=0,b=1,c=-1;

float x = 2.5, y=0.0;

What will be the value of the following expression?

x*y<a+b]c

Options :
1465873157. % 0
1465873158. % -1
1465873159. ¥ 1
1465873160. # 2.5

Question Number : 40 Question Id : 146587790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SIENTHeT olidst C & oaAhd aRuae fFeeree W fER Hifaw:
nta=0b=1,c¢c=-1,;

float x = 2.5, y = 0.0;

S I 1 AT =41 gem?

x*=y<a+hbl|c
Options :

1465873157. % 0
1465873158. # —1
1465873159. ¥ 1
1465873160. # 2.5



Question Number : 41 Question Id : 146587791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Structured Query Language (SQL) is an example of non-procedural language. Which one of the following is NOT a component of SQL?
Options :

1465873161. # Data Definition Language (DDL)

1465873162. # Transaction Control Language (TCL)

1465873163. # Data Manipulation Language (DML)

1465873164. ¥ Data Transfer Language (DTL)

Question Number : 41 Question Id : 146587791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

%gdﬂsc CRRNIER (SQL) R Ufh D HIWT (non-procedural language) T Th YHR %l BEINICRERER SQL hIUh Ych qﬁ%‘?
Options :

1465873161. % ST SR dlidel (DDL)

1465873162, % CISTaRM el el (TCL)

1465873163, % STT H-IYAIRM ¢l7del (DML)

1465873164, ¢ ST TR qlfde (DTL)

Question Number : 42 Question Id : 146587792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

DOS is a system software that was developed by Microsoft Corporation, usually it is called MS-DOS. The DOS stands for
Options :

1465873165. # Drive Operating System

1465873166. # Domain Operating System

1465873167. ¥ Disk Operating System

1465873168. # Disk Operation System

Question Number : 42 Question Id : 146587792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

DOS ATSHINIUE HIARRH gRT FAfHd Te Rieed AdedwR &, SR H=ad: MS-DOS &81 971dl 6 | DOS HT Ul =0 &1 87
Options :

1465873165. # gIsd TR Reeq (Drive Operating System)

1465873166. ® SIAA TRIET RieH (Domain Operating System)

1465873167, ¢ T&%® AT R H (Disk Operating System)

1465873168, # f&¥® UM RIEH (Disk Operation System)

Question Number : 43 Question Id : 146587793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Consider the following line of HTML code:

<font face=""Arial”> text</font>

Which of the following is false about this line of code?
Options :

1465873169. # Tag name is ‘font’

1465873170. # The attribute name is ‘face’

1465873171. # The value given to attribute is ‘Arial’
1465873172. ¥ Tag name is ‘text’

Question Number : 43 Question Id : 146587793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

HTML & Fr e 9fFg 97 = fieT:
<font face="Arial"> text</font=

FE FT 37 Uidd & HeH H Aeaoi@a Teedl # ¥ Fi9-31 g 272
Options :
1465873169, % T H “font’ §

1465873170, ® UCSIE A ‘face’ ©



1465873171, % URCSE &1 e “Arial’ & A §

1465873172, ¢ ST 1 “text’ §

Question Number : 44 Question Id : 146587794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What will be the result of the 'C' language expression "9 && 4 % 2 || 5"7
Options :

1465873173. ¥ 1

1465873174. ® 0

1465873175. ®# 9
1465873176. # 5

Question Number : 44 Question Id : 146587794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

'C' oIT9T T+ (language expression) "9 && 4 % 2 || 5" T 9fomHE FAT MY
Options :

1465873173. ¥ 1

1465873174. % 0

1465873175. # 9
1465873176. % 5

Question Number : 45 Question Id : 146587795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ITU was founded in 1865 to facilitate international connectivity in communications networks. ITU stands for
Options :

1465873177. ¥ International Telecommunication Union

1465873178. # Interconnectivity Telecommunication Union



1465873179. ¥ Institute of Telecommunication Union

1465873180. # Information Telecommunication University

Question Number : 45 Question Id : 146587795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TR Aeds | SRIT Sfaefadt BT GiaeT & T ITU & RITAT 1865 H &1 118 Y1 ITU ST 01 U &1 52
Options :

1465873177, ¢ SCRARAA é?ﬂao‘ngﬁw Zlﬁﬁ'qq (International Telecommunication Union)

1465873178, ® ScxabAfdedc] mﬁw Qﬁ'q:[ (Interconnectivity Telecommunication Union)

1465873179. % ERQET{:C' 31t m ?IﬁPZFT (Institute of Telecommunication Union)

1465873180. ¥ BRI BB JMATRIC (Information Telecommunication University)

Question Number : 46 Question Id : 146587796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In Computer network, the OSI model is composed of seven ordered layers. The OSI stands for
Options :

1465873181. # Open Study Institute

1465873182. # Organization of Standard Institute

1465873183. ¥ Open Systems Interconnection

1465873184. # Open System Institute

Question Number : 46 Question Id : 146587796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

HYCR qedd & OS] HISd | ITd HiHd TRd gl & | OSI BT JUf =Y FT g2
Options :

1465873181, ¥ 31U4 ol ST (Open Study Institute)

19 EN C o O . . .
1465873182, ¥ 3RO 3P WIS ICIR]C (Organization of Standard Institute)
1465873183. ¢ 3104 RieH m (Open System Interconnection)




1465873184, ¥ 31U fIeT SXEIC (Open Systems Institute)

Question Number : 47 Question Id : 146587797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Match the followings with respect to computer networks terminology.

List1 List 2

1. LAN | A. Metropolitan Area Network

(]

.PAN | B. Local Area Network

3. MAN | C. World Area Network

4. WAN | D. Process Area Network

E. Wide Area Network

F. Light Area Network

G. Personal Area Network

Options :

1465873185. ¥ 1 -F;2-G;3-A;4-E
1465873186. * 1-B;2-D;3-A;4-C
1465873187. #* 1-B;2-G;3-A;4-C
1465873188. % 1 —-B;2-G;3-A;4-E

Question Number : 47 Question Id : 146587797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



30 e @1 99w Fifaw G Araof@a Fgel dcas! #1 3d6r
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T T 2
1. LAN | A. #gmfees ofrar Aeas (Metropolitan Area Network)
2. PAN | B. ®iterer Tfam agas (Local Area Network)

3. MAN | C. 3e= ©far #cas (World Area Network)

4. WAN | D. wiaw ©vfar #css (Process Area Network)

E. 9125 TiEr dcas (Wide Area Network)

F. ®r=e of{amr sicas (Light Area Network)

G. 98 vRAT #eas (Personal Area Network)

Options :

1465873185. #* 1 -F;2-G;3-A;4-E
1465873186. #* 1 -B;2-D;3-A;4-C
1465873187. # 1-B;2-G;3-A;4-C
1465873188. ¥ 1 -B;2-G;3-A;4-E

Question Number : 48 Question Id : 146587798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The electronic pages seen on the Internet are known as
Options :

1465873189. * Websites



1465873190. ¥ Web pages
1465873191. ¥ Web Content
1465873192. ¥ Webcast

Question Number : 48 Question Id : 146587798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

g W YEfRid 8 aTd 3o Uol Hedd gl

Options :

1465873189, % daTZCH (websites)
1465873190. ¢ AU (web pages)
1465873191, ® dd Bcc (web content)
1465873192. # JIPHRE (webcast)

Question Number : 49 Question Id : 146587799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which among the following is NOT a property of secure communication?
Options :

1465873193. # Confidentiality

1465873194. # Integrity

1465873195. # Authenticity

1465873196. ¥ Reliability

Question Number : 49 Question Id : 146587799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafoiad & & our Qe TR & T faRivar T8t 82
Options :

1465873193, ® TU-IAdT (Confidentiality)
1465873194, # 3RGSdI (Integrity)



1465873195. % YTHTUMRAT (Authenticity)
1465873196. ¥ TAYTITAT (Reliability)

Question Number : 50 Question Id : 146587800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

To send an e-mail, both the sender and receiver must have an e-mail account. To send an e-mail, enter the e-mail address of the receiver against
any of the three options - To, CC and BCC. Which of the following statements is NOT correct?

Options :

1465873197. # To: Addresses mentioned in this box are visible to every receiver
1465873198. # CC: Stands for Carbon Copy

1465873199. ¢ CC: Stands for Complex Copy

1465873200. ¥ BCC: Stands for Blind Carbon Copy

Question Number : 50 Question Id : 146587800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

3.0d Yo & foTU Uues 3R UTtdehal G &1 3-Hd fbTge 8T 3ifard 81 3-Ad Held & T 39 diF fawedl To, CC 3R BCC # ¥ fopdt
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Options :

1465873197. % To: 3 Siay H forar Tsw uft urdhdiaf &1 fqwm a1 g
1465873198, % CC: &1 Y01 U BHTe-T BIYT (Carbon Copy) B

1465873199, ¢ CC: &1 Y01 U BRI BIT (Complex Copy) &
1465873200. % BCC: o1 Y0f U SATES HTa BIUT (Blind Carbon Copy) &




